[image: image1.png]*#16-48. The slotted yoke is pinned at A while end B is
used to move the ram R horizontally. If the disk rotates.
with a constant angular velocity w, determine the velocity
and acceleration of the ram. The crank pin C is fixed to
the disk and s with it.
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[image: image2.png]16-49. The Geneva wheel A provides intermittent rotary
‘motion w, for continuous motion wp, = 2 rad/s of disk
D. By choosing d = 100~/2 mm, the wheel has zero an-
gular velocity at the instant pin B enters or leaves one
of the four siots. Determine the magnitude of the angular
velocity a4 of the Geneva wheel at any angle 8 for which
pin B is in contact with the sloL.
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[image: image3.png]16-57. Rod AB is rotating with an angular velocity
wap = 5 rad/s. Determine the velocity of the collar C at
the instant 8 = 60° and ¢ = 45°. Also, sketch the loc
of bar BC when 6 = 30°, 60° and 45° to show its general
plane motion.
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[image: image4.png]16-8. 1i rod CD s rotating with an angular velocity
wne = 8 1ad]s, determine the angular velocities of rods AB.
and CB at the instant shown.
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[image: image5.png]16-101. The square plate is confined within the slots at
A and B When 6 = 30°, point A is moving at v, = 8 m/s.
Determine the velocity of point D at th
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[image: image6.png]16102 If the slider block A is moving to the right at
va = 8 ft/s, determine the velocitics of blocks B and C at
‘the instant shown.
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[image: image7.png]16-114. The disk is moving t0 the left such that it has
an angular acceleration a = 8 rad/s* and angular velocity
w=3rad/s at the instant shown. If it does not slip at A,
determine the acceleration of point D.
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